Unique Auctions Catalogue 01 Nov 2017

1	A quantity of various ceiling lights £10.00 - £20.00	43	3 vintage suitcases £10.00 - £20.00
2	2 shelves of new lighting £10.00 - £20.00	44	A work bench £10.00 - £20.00
3	2 shelves of new lighting £10.00 - £20.00	45	A mixed lot of gardening accessories including
4	2 shelves of new lighting £10.00 - £20.00		wheelbarrow, barbecue items etc £10.00 - £20.00
5	2 shelves of new lighting £10.00 - £20.00	46	2 cream 2 seat sofa's £10.00 - £20.00
6	2 shelves of new lighting £10.00 - £20.00	47	A set of luxury car mats £8.00 - £10.00
7	2 shelves of new lighting £10.00 - £20.00	48	A draw leaf table and 4 chairs £10.00 - £20.00
8	A quantity of new and boxed lighting £10.00 -	49	3 paper shredders £8.00 - £10.00
	£20.00	50	A box of 78 rpm records £8.00 - £10.00
9	2 shelves of new lighting £10.00 - £20.00	51	A Sondstrem music centre etc £10.00 - £20.00
10	2 shelves of new lighting £10.00 - £20.00	52	A rustic style hall table £10.00 - £15.00
11	2 shelves of new lighting £10.00 - £20.00	53	2 old cabin trunks £10.00 - £20.00
12	2 shelves of new lighting £10.00 - £20.00	54	A carpet shampooer and sweeper £5.00 - £10.00
13	A quantity of new lamp shades £10.00 - £20.00	55	A wing arm chair £10.00 - £15.00
14	A shelf of new lighting £10.00 - £20.00	56	3 VAX batteries and a charger £10.00 - £15.00
15	A shelf of new lighting £10.00 - £20.00	57	3 old stools and a chair £10.00 - £20.00
16	2 shelves of new lighting £10.00 - £20.00	58	4 wooden apple trays £10.00 - £20.00
17	A shelf of new lighting £10.00 - £20.00	59	An ottoman £5.00 - £10.00
18	A shelf of new glass lampshades £10.00 - £20.00	60	4 boxes of books £5.00 - £10.00
19	2 shelves of new lighting £10.00 - £20.00	61	A LLoyd Loom chair and linen bin £10.00 - £20.00
20	2 shelves of new lighting £10.00 - £20.00	62	An occasional table £8.00 - £10.00
21	2 shelves of new lighting £10.00 - £20.00	63	A Proline washing machine £10.00 - £20.00
22	2 shelves of new lighting £10.00 - £20.00	64	A microwave oven £10.00 - £15.00
23	2 shelves of new lighting £10.00 - £20.00	65	A Proline work top fridge £10.00 - £20.00
24	A quantity of new boxed lighting £10.00 - £20.00	66	A Hotpoint fridge £10.00 - £20.00
25	A quantity of new boxed lighting £10.00 - £20.00	67	A tumble drier £10.00 - £20.00
26	2 shelves of new lighting £10.00 - £20.00	68	A Bosch washing machine £10.00 - £20.00
27	2 shelves of new lighting £10.00 - £20.00	69	A music centre £10.00 - £20.00
28	2 shelves of new lighting £10.00 - £20.00	70	A teak cabinet £10.00 - £20.00
29	2 shelves of new lighting £10.00 - £20.00	71	A mixed lot of games and puzzles £10.00 - £20.00
30	2 shelves of new lighting £10.00 - £20.00	72	A modern coffee table £10.00 - £20.00
31	2 shelves of new lighting £10.00 - £20.00	73	A box of soft toys £5.00 - £10.00
32	A quantity of plastic storage trays £10.00 - £20.00	74	A wall unit £20.00 - £30.00
33	3 shelves of new lighting £10.00 - £20.00	75	A jug, basin, butter dish and vase £5.00 - £10.00
34	2 shelves of new lighting £10.00 - £20.00	76	A teak bureau £10.00 - £20.00
35	2 shelves of new lighting £10.00 - £20.00	77	An electric fire and surround £10.00 - £20.00
36	A quantity of new lighting £10.00 - £20.00	78	A bedside cabinet £5.00 - £10.00
37	A quantity of new glass lampshades £10.00 -	79	A box of hand bags £5.00 - £10.00
00	£20.00	80	A black glass TV stand £5.00 - £10.00
38	A quantity of new lighting £10.00 - £20.00	81	A black glass TV stand £5.00 - £10.00
39	A quantity of new lighting £10.00 - £20.00	82	An old paraffin can £8.00 - £10.00
40	A mixed lot of garden tools etc £10.00 - £20.00	83	A Baby Burco boiler £10.00 - £15.00
41	An exercise bike £10.00 - £20.00	84	A vintage kitchen cabinet £5.00 - £10.00
42	A quantity of crocheted blankets and a candlewick bedspread £10.00 - £20.00	85	A mahogany effect cabinet £5.00 - £10.00
		86	4 rugs £5.00 - £10.00
	4		

1

87	A Burco boiler and a stainless steel pedal bin £10.00 - £20.00	126	A Samsung televisioin £20.00 - £30.00
88	A vintage kitchen cabinet £10.00 - £20.00	127	A side table £10.00 - £20.00
89	A vintage kitchen cabinet £10.00 - £20.00	128	A pine framed mirror £10.00 - £20.00
90	A vintage kitchen cabinet £10.00 - £20.00 A vintage kitchen cabinet £10.00 - £20.00	129	A retro cake stand and 2 others £10.00 - £15.00
91	ŭ	130	An oak cupboard £10.00 - £20.00
92	A vintage kitchen sehinat \$10.00 - £20.00	131	3 Julio Aramo prints, an oil on board forest scene,
93	A vintage kitchen cabinet £10.00 - £20.00 An old metal trunk £10.00 - £20.00		and oil on board villages scene and a framed photograph £10.00 - £20.00
94	A vintage kitchen cabinet £10.00 - £20.00	132	3 battery operated Dalmation dogs £10.00 - £20.00
95	A Victorian mahogany circular table top £20.00 -	133	A teak drinks cabinet £15.00 - £20.00
	£30.00	134	A carved oak drinks cabinet, a/f £10.00 - £20.00
96	3 step ladders	135	An oak effect book case £20.00 - £30.00
97	A metal curtain pole £10.00 - £15.00	136	A mixed lot of glass ware £10.00 - £20.00
98	An S.80 lever industrial vacuum cleaner £10.00 -	137	A cream brocade arm chair £10.00 - £20.00
	£20.00	138	A brocade sofa £20.00 - £30.00
99	A Taskmaster industrial diesel space heater	139	A revolving chair and stool £10.00 - £20.00
100	£20.00 - £30.00	140	A three piece suite £10.00 - £20.00
100	An Industrial Erbauer vacuum cleaner £10.00 - £20.00	141	An arm chair, a/f £5.00 - £10.00
101	1 stained and 1 stripped pine single bed (can be	142	2 wing arm chairs and one other £10.00 - £20.00
	made in to bunk beds) £10.00 - £20.00	143	An office desk £10.00 - £20.00
102	A oak corner cupboard, a/f £10.00 - £20.00	144	A large quantity of yellow tea and dinner ware
103	A dovetailer £10.00 - £20.00		£20.00 - £30.00
104	A Hoover and 2 carpet sweepers £8.00 - £10.00	145	6 boxes of books £10.00 - £20.00
105	A Universal Epic LX26 bicycle £20.00 - £30.00	146	A quantity of CD's £10.00 - £20.00
106	An overmantel mirror, a/f £10.00 - £20.00	147	A 4 tier what not £20.00 - £30.00
107	A vintage Hoover Junior vacuum cleaner £10.00 - £20.00	148 149	A china cabinet £15.00 - £20.00 2 plant stands £8.00 - £10.00
108	An Electrolux vacuum cleaner £10.00 - £20.00	150	8 volumes of 'The Century Dictionary' £10.00 -
109	A Raleigh Gent's bicycle £20.00 - £30.00	100	£20.00
110	A vintage slide projector, stand, screen etc £10.00 - £20.00	151	2 boxed Nintendo Wii Star Wars Clone Trooper Blasters £10.00 - £20.00
111	A Chinese wool rug £20.00 - £30.00	152	A shelf of assorted brass ware including paraffin
112	A Chinese wool rug £20.00 - £30.00		lamp £15.00 - £20.00
113	A set of 5 19th century mahogany chairs for	153	A large terracotta pig £15.00 - £20.00
110	restoration £20.00 - £30.00	154	A Vax dehumidifier £10.00 - £20.00
114	2 folding chairs £5.00 - £10.00	155	A shelf of oriental style table ware £10.00 - £20.00
115	A set of pine shelves (flat pack) £5.00 - £10.00	156	2 shelves of assorted glassware £10.00 - £20.00
116	2 Chinese wool rugs £10.00 - £20.00	157	2 baskets, a dolls wicker sofa and chair etc £8.00 -
117	2 rugs £10.00 - £20.00	450	£10.00
118	A floral framed mirror £8.00 - £10.00	158	A vintage suitcase £10.00 - £20.00
119	A nest of 4 tables £10.00 - £15.00	159	A shelf of stoneware and glass bottles £15.00 - £20.00
120	3 gilt framed country scenes £10.00 - £20.00	160	A shelf of good assorted china items £10.00 -
121	A mahogany dining table and 4 chairs £20.00 -		£20.00
400	£30.00	161	A shelf of knitting and sewing items £10.00 -
122	A china tea set £10.00 - £15.00	400	£20.00
123	A Meakin fruit set (missing 1 bowl) £8.00 - £10.00	162	5 framed and glazed prints and a map £10.00 -

£20.00

163

An ottoman and a storage stool a/f £10.00 - £20.00

BidMaster Office 2

2 boxes of linen etc £10.00 - £20.00

A wall clock £8.00 - £10.00

124

125

164	A framed and glazed Disney print, 2 Tigger toys and one other £10.00 - £20.00	200	4 books on horse racing etc £10.00 - £15.00
165	A 2 tier and a 3 tier cake stand £10.00 - £15.00	201	A slow cooker £10.00 - £15.00
166	A canteen of cutlery £10.00 - £20.00	202	2 copper kettles £10.00 - £20.00
167	A quantity of bottle collecting reference books £10.00 - £15.00	203	A quantity of various Denby dinner ware £15.00 - £20.00
168	A vintage Niagara Cyclo Massager £10.00 - £15.00	204	A large stoneware jar and one other £10.00 - £20.00
169	12 volumes of Children's Britannica £10.00 - £15.00	205	A DVD player etc £10.00 - £20.00
170	An 18 piece Royal Albert Old Country Roses tea	206	6 porcelain dolls £10.00 - £20.00
170	set £20.00 - £30.00	207	2 oriental metal plaques and a vase £10.00 -
171	2 Midwinter salad dishes and one other £10.00 -		£20.00
	£15.00	208	30 pieces of early 20th century Melba china tea
172	7 volumes of Man, Myth and Magic £10.00 - £20.00		ware and an Aynsley posy £10.00 - £20.00
173	A quantity of tea card booklets £10.00 - £20.00	209	A shelf of vintage kitchenalia £10.00 - £20.00
174	A large gilt framed oil on canvas signed 'Koenig' of a tree lined river £10.00 - £20.00	210	A vintage slide projector £10.00 - £20.00
175	4 framed and glazed horse prints £10.00 - £20.00	211	A Victorian copper warming pan and a small coal scuttle £10.00 - £20.00
176	An oak gate leg table £20.00 - £30.00	212	An oak biscuit barrel, an oriental style biscuit
177	A dumb waiter in the form of a figure £10.00 -	040	barrel and 2 conserve pots £10.00 - £20.00
178	£15.00 A white bedside cabinet £8.00 - £10.00	213	A Game Gear console and mixed computer games £10.00 - £20.00
179	A 4 drawer office chest with key £10.00 - £20.00	214	A shelf of assorted silver plate £10.00 - £20.00
180	·	215	A shelf of miscellaneous china etc £10.00 - £20.00
181	2 shelves of hats and a vanity case £10.00 - £20.00 A shelf of assorted glass ware £10.00 - £20.00	216	A mixed lot including compass, lights etc £10.00 -
182	2 sets of scales £10.00 - £20.00		£20.00
183	A new Delsey, Paris vanity case £10.00 - £20.00	217	An oil lamp and a Tilley lamp £10.00 - £20.00
184	A framed and glazed rural scene £10.00 - £20.00	218	A shelf of assorted animal figures £10.00 - £20.00
185	A framed and glazed rural watercolour £10.00 -	219	A shelf of Wedgwood dinner ware £10.00 - £20.00
	£20.00	220	3 framed and glazed prints including Robin Hood Bay, a quantity of prints and a quantity of
186	A wall clock £10.00 - £20.00		postcards £10.00 - £20.00
187	An oil on canvas bridge over river scene £10.00 - £20.00	221	A large box of costume jewellery £10.00 - £20.00
188	A framed and glazed print of Boston £10.00 -	222	An Arthur Wood vase and 3 other items £10.00 - £20.00
189	£20.00	223	A porcelain headed doll £10.00 - £20.00
	A framed and glazed print entitled 'The Wanderer's Return' £10.00 - £20.00	224	A shelf of vintage games including dominoes £10.00 - £20.00
190	A bedroom chaise longue £10.00 - £20.00	225	3 circa 19th century china bowls - Amhurst Japan
191	A bedroom chair and a pouffe £10.00 - £20.00		Ironstone, Shancock Royal Corona ware and an
192	A framed and glazed oil on board African scene £10.00 - £20.00		unmarked bowl together with 2 Adams bowls depicting The Cries of London (1 a/f) £20.00 -
193	A shelf of assorted glass ware £10.00 - £20.00		£30.00
194	A shelf of assorted china £10.00 - £20.00	226	A quantity of theatre programmes £10.00 - £20.00
195	A set of 36 volumes of Charles Dickens Heron books £10.00 - £20.00	227 228	A mixed lot of clown figures £10.00 - £20.00 A box of tools including vice, hand grinder, oil tins
196	A vintage Monopoly, solitiar and games compendium £10.00 - £20.00	229	etc £10.00 - £20.00 3 model sailing boats £10.00 - £20.00
197	A modern mixed media painting, missing glass	230	6 Adam's soup bowls and saucers £10.00 - £20.00
	£10.00 - £20.00	231	A mixed lot of costume jewellery £10.00 - £20.00
198	A shelf of assorted glass ware £10.00 - £20.00	232	A copper warming pan, serving dish, horse
199	A shelf of assorted clocks £10.00 - £20.00		brasses etc £10.00 - £20.00

233	2 tureens and 2 other items £10.00 - £20.00	266	A box of hand bags £10.00 - £20.00
234	A quantity of fly fishing including fly's, reels etc	267	A vintage Singer sewing machine £10.00 - £20.00
	£10.00 - £20.00	268	A mixed lot of silver plate including tray and silver
235 236	2 shelves of assorted cut glass £10.00 - £20.00 18 pieces of floral decorated dinner ware and 6	269	handled cake knife £10.00 - £20.00 A bamboo coffee table £10.00 - £20.00
230	Mason's plates £10.00 - £20.00	270	A Hornby Dublo 00 gauge 3 rail Duchess of
237	A shelf of tools including wood working planes £10.00 - £20.00	270	Monrose train set and controller unit £80.00 - £120.00
238	2 Sega Game Gears, 12 games including Sonic	271	A mixed lot of ribbon plates £20.00 - £30.00
	the Hedgehog, guns, accessories etc	272	A glass carboy £10.00 - £15.00
239	(Completeness unknown) £10.00 - £20.00 A Goebel vase £10.00 - £20.00	273	An oak stool £10.00 - £15.00
		274	A copper kettle £10.00 - £20.00
240	A 1930's alabaster mantel clock and one other £10.00 - £20.00	275	A Herbert Terry anglepoise lamp £10.00 - £20.00
241	2 shelves of assorted pottery including Willow	276	A mixed lot of pickle pots etc £10.00 - £20.00
	Pattern, ivy leaf etc £10.00 - £20.00	277	A Hardy landing net, a salmon guff and another
242	A shelf of assorted glass ware £10.00 - £20.00		guff £20.00 - £30.00
243	3 air beds £8.00 - £10.00	278	A large fish tank £20.00 - £30.00
244	A boxed camping TV/Radio lantern working but TV not digital so wont get a picture £20.00 - £30.00	279	A cased set of fish knives and forks together with other cutlery £10.00 - £20.00
245	A pair of Cutty Sark book ends £10.00 - £20.00	280	A Victorian brass standard oil lamp £20.00 -
246	A Royal Winton tankard and dish £10.00 - £20.00	004	£30.00
247	A mantel clock £10.00 - £15.00	281	A quantity of silk and other toys £10.00 - £15.00
248	A shelf of assorted brass and copper £10.00 -	282 283	A pair of brass candle lamps £10.00 - £20.00
	£20.00		A mixed lot of draughts, chess etc £10.00 - £20.00
249	A Philip's reel to reel tape recorder £10.00 - £20.00	284	A piano stool £20.00 - £30.00
250	A Record wood working plane £10.00 - £20.00	285	A mixed lot of glass ware £10.00 - £20.00 A quantity of DVD's £10.00 - £20.00
251	A collection of movie related books and other celebrity memorabilia £10.00 - £20.00	286	• •
252	2 new and boxed Chinese style porcelain dolls and 3 other oriental style dolls £20.00 - £30.00	287 288	A mixed lot of china and glass £10.00 - £20.00
232			A pair of inlaid bedroom chairs £10.00 - £20.00
253	A Japanese porcelain 'Nichi Hon' tea set, 27	289	A vintage sewing machine £10.00 - £20.00
	pieces £20.00 - £30.00	290	A box of Royal ephemera and memorabilia £10.00 - £20.00
254	A mixed lot of commemorative and crested china £10.00 - £20.00	291	3 oak smoker's stands £10.00 - £20.00
255	A shelf of assorted teaware, enamel roasting pans	292	A mixed lot of teaware etc £10.00 - £20.00
	etc £10.00 - £20.00	293	A quantity of vintage nylon stockings £10.00 - £20.00
256	A box of assorted tools £10.00 - £20.00	294	A quantity of chandelier and lustre droppers
257	2 Shelves of crystal glass ware including decanters £10.00 - £20.00		£10.00 - £20.00
258	A set of 26 volumes of English Classics, Heron	295	A metal oval photo frame £10.00 - £20.00
259	Books £10.00 - £20.00 A pair of oriental vases £10.00 - £20.00	296	A set of 6 picnic wine goblets (plastic) £5.00 - £10.00
260	4 old cast drain pipe tops £30.00 - £40.00	297	A nest of 3 tables £10.00 - £20.00
		298	A mixed lot of chess pieces £10.00 - £20.00
261	4 old cast drain pipe tops and 2 shoe lasts £30.00 - £40.00	299	10 cockerel and hen figures £10.00 - £20.00
262	A box of dolls £10.00 - £20.00	300	A box of assorted GB, Commonwealth and world
263	A box of pictures £10.00 - £20.00		stamps £20.00 - £30.00
264	A box of handbags, holdall etc £10.00 - £20.00	301	A mixed lot of costume jewellery £10.00 - £20.00
265	A quantity of spot lights, office drawers etc £10.00 - £20.00	302	A mixed lot of UK and foreign coins £10.00 - £20.00

303	A lacquered box with painted portrait A/f, a lacquered pill box, A lacquered egg, a metal	331	A small portrait of woman and child £10.00 - £20.00
	matchbox holder and quantity of badges £10.00 - £20.00	332	A floral decorated vase £5.00 - £10.00
304	A quantity of wrist watches £10.00 - £20.00	333	A pair of small brass lanterns £10.00 - £15.00
305	3 film posters £10.00 - £20.00	334	An N gauge model railway consisting of track,
306	A quantity of wrist watches and straps £10.00 - £20.00		engines, rolling stock, accessories etc by Bachman, Graham Farish and Oxford Diecasts £20.00 - £30.00
307	A box of photographs and postcards together with 3 framed and glazed Lincoln scenes £10.00 - £20.00	335	A mixed lot including lighter, cigarette case, die cast models etc £10.00 - £15.00
308	A quantity of postcards £10.00 - £20.00	336	A mixed lot including hip flask, cigarette case, trinket pot etc £10.00 - £15.00
309	A mixed lot of costume jewellery £10.00 - £20.00	337	An enamel and gilt photo frame, (missing glass)
310	A mixed lot of costume jewellery £10.00 - £20.00 A mixed lot of costume jewellery £10.00 - £20.00	331	£10.00 - £15.00
311	An interesting collection of tins, plaques, bike	338	A figure of fox cubs at play £8.00 - £10.00
311	light, whistle etc £10.00 - £20.00	339	A Royal Doulton figurine, Angela £10.00 - £15.00
312	2 music books and 'Lincoln as it was' book £10.00	340	2 attache' cases and 2 watches £10.00 - £15.00
313	£15.002 albums of German stamps and an album of	341	A stoneware advertising jar and 2 others £10.00 - £15.00
	stamped envelopes £20.00 - £30.00	342	6 pin dishes and a pot including Minton, Royal
314	A Butler and Wilson necklace £10.00 - £20.00		Crown Derby and Royal Worcester £10.00 - £20.00
315	A silver ring set colour change florite £10.00 -	343	A Victorian silver fob watch £20.00 - £30.00
242	£20.00	344	A Victorian silver fob watch £20.00 - £30.00
316	A collar necklace and a multi coloured bracelet £10.00 - £20.00	345	4 wrist watches and a compass £10.00 - £20.00
317	6 dress rings, 2 pairs of earrings and a pendant	346	A mixed lot of vintage buckles etc £10.00 - £20.00
517	£10.00 - £20.00	347	A mixed lot of coloured glass £10.00 - £20.00
318	A card box with cards and a wooden chicken game (a/f) £10.00 - £20.00	348	A mixed lot including trinket boxes, travelling inkwell etc £10.00 - £20.00
319	2 metal Sphinx's on marble bases £8.00 - £10.00	349	2 wooden figures, 2 bottle openers, medallion etc
320	A bisque figural posy vase, a pair of 19th century	250	£10.00 - £20.00
	figures, 2 ballerina's and one other figure £10.00 - £20.00	350	A 19th century Staffordshire shepherdess with sheep £10.00 - £20.00
321	A mixed lot including jewellery, trinket boxes etc	351	A wooden tool box and contents £40.00 - £60.00
	£10.00 - £20.00	352	2 suitcases £8.00 - £10.00
322	A Royal Doulton character jug, Captain Ahab £10.00 - £20.00	353	3 box folders of military model magazines and 2 box folders of military history magazines £10.00 - £20.00
323	A brass stork £10.00 - £20.00	354	A watercolour of a young girl and a watercolour of
324	A large silver plated ladle and serving spoon £8.00 - £10.00	334	a bridge/river scene together with 2 framed and glazed tapestries £10.00 - £20.00
325	A pair of small Staffordshire spaniels £8.00 - £10.00	355	A large quantity of toy dinosaurs £25.00 - £30.00
326	A vintage Belaco fishing reel in original box £10.00	356	A pair of Japanese geisha's, a/f £5.00 - £10.00
320	- £20.00	357	A painted bathroom cupboard £10.00 - £20.00
327	A mixed lot of old coins, pennies, half pennies etc £10.00 - £20.00	358	Approximately 28 pieces of Royal Doulton gold rimmed dinner ware £10.00 - £20.00
328	A collection of cigarette cards including Jockeys, boxers etc by Ogdens, Players, Wills etc £10.00 -	359	A stoneware lidded storage jar and one other £10.00 - £20.00
	£20.00	360	A Staffordshire lion £10.00 - £20.00
329	An old lock, door handles etc £10.00 - £20.00	361	A vintage telephone £5.00 - £10.00
330	A set of 4 copper measures and 2 others £20.00 - £30.00	362	A Bell's whisky bell and contents and an empty Bell's whisky bell £10.00 - £20.00

363	A barge ware watering can £10.00 - £20.00		£10.00 - £20.00
364	A brass tray topped table £10.00 - £20.00	391	A large Jemma pottery leaping salmon and a
365	A mixed lot of tea ware including blue and white £10.00 - £20.00	392	smaller example, both a/f £10.00 - £20.00 A mahogany folding book case £40.00 - £60.00
366	A mixed lot of silver plate and a bamboo shelf unit £10.00 - £20.00	393	A convector heater £10.00 - £15.00
367	2 copper coal scuttles £15.00 - £20.00	394 395	2 boxes of children's books £10.00 - £20.00 2 boxes of records £10.00 - £20.00
368	A quantity of Red Arrows memorabilia £15.00 -		A box of assorted dinnerware £10.00 - £20.00
	£20.00	396	
369	A mixed lot of brass and copper etc £10.00 -	397 398	A tool box and contents £10.00 - £20.00 A box of LP records £10.00 - £20.00
	£20.00		
370	2 boxes of books including cricket, antiques etc £10.00 - £20.00	399 400	A quantity of old tools £10.00 - £20.00 12 model aircraft including Atlas Editions, Corgi
371	A mixed lot of boxed items including weather forecaster, garden wall clock etc £10.00 - £20.00	401	etc £10.00 - £20.00 A snooker cue in case £10.00 - £15.00
372	A George Foreman grill, a coffee maker and a	402	An oil lamp style table lamp £10.00 - £15.00
	teasmade £10.00 - £20.00	403	An oak trolley £20.00 - £30.00
373	2 boxes of old woodworking tools £10.00 - £20.00	404	A lace cover, beaded bag, leather gloves etc £5.00
374	2 boxes of books £10.00 - £20.00		- £10.00
375	A German porcelain candelabra and a china dove £10.00 - £20.00	405	A pair of vases, a/f and three others £10.00 - £20.00
376	An inlaid D shaped hall table £20.00 - £30.00	406	A mantel clock with presentation plaque for Lady
377	A Bradford Editions Spitfire vase and clock, Westminster collection diamond wedding plate and a collection of prints including R.A.F, Railway		Manners School 1950 £10.00 - £20.00
		407	27 Atlas Editions model military vehicles £10.00 - £20.00
270	etc £10.00 - £20.00	408	A 2 tier folding cake stand £10.00 - £20.00
378	A collection of boxed Britain's farm toys £100.00 - £150.00	409	A mixed lot of blue and white willow pattern tea ware £10.00 - £20.00
379	A pair of European vases, a/f £30.00 - £40.00	410	11 Atlas Editions model vehicles being 4 trams
380	A Shimano 5000 baitrunner aero reel £15.00 - £20.00	444	and 7 buses £10.00 - £20.00
381	2 car horns and a horse bridle £15.00 - £20.00	411	A bedroom chair £8.00 - £10.00
382	6 Atlas Editions Eddy Stobart models with 3	412	A mixed lot of brass ware £10.00 - £20.00
	collector's plates and a set of tea mats £10.00 - £20.00	413	15 model vehicles including Atlas Editions, Vanguard and Lledo £10.00 - £20.00
383	A pair of Victorian mahogany chairs £20.00 -	414	An occasional table
384	£30.00 A Sadler Wellington tea set and other items of	415	A Stanley plane and a mixed lot of pottery and glass £8.00 - £10.00
	china including Royal Worcester £10.00 - £20.00	416	A quantity of vintage hats £8.00 - £10.00
385	A silver plate champagne bucket, a silver plate biscuit barrel and a brass trivet £15.00 - £20.00	417	A folding oriental table and a book rest £5.00 - £10.00
386	2 ornamental flintlock guns including Blunderbuss	418	A nest of 3 tables £10.00 - £20.00
	£10.00 - £20.00	419	A Colclough 27 piece tea set £10.00 - £20.00
387	6 Atlas Editions model naval ships (Bismark, Hood, Missouri, Scharnhorst, Prince of Wales and Yamato) together with 12 'The Classic War Movie Collection' magazines £10.00 - £20.00	420	A large quantity of CD's, DVD's, Blue Rays and 2 CD shelves £10.00 - £20.00
		421	A mixed lot of blue and white china £10.00 - £20.00
388	A brass coal box depicting horses, a matching magazine rack and other brass ware £20.00 -	422	A mahogany extending dining table £10.00 - £20.00
	£30.00	423	A small tin trunk £10.00 - £20.00
389	A part Japanese tea set £10.00 - £20.00	424	A mixed lot of wooden items including candlesticks £10.00 - £20.00
390	10 Atlas Editions 'The Greatest Show on Earth' model circus vehicles and a set of tea mats	425	A bedroom chair and a stool £10.00 - £20.00

426	A quantity of blue tea ware £10.00 - £20.00		£10.00 - £20.00
427	A refectory style table £15.00 - £20.00	466	A tallboy £10.00 - £15.00
428	A brass fender £10.00 - £20.00	467	8 framed and glazed bird prints £10.00 - £20.00
429	A mahogany book case £10.00 - £20.00	468	3 shelves of automobilia including replica signs
430	A chrome companion set and poker in stand £8.00		£20.00 - £30.00
431	- £10.00	469	5 books by Lincoln authors including Mary E Shipley, J G Bedford etc £10.00 - £20.00
	A reprinced investigation to the S10.00 - £20.00	470	A set of scales and weights £10.00 - £20.00
432	A musical jewellery table £10.00 - £20.00	471	A 21 piece Royal Vale tea set £10.00 - £20.00
433	A have of picture frames at \$10.00 - £20.00	472	A mixed lot of glass including carnival £10.00 -
434	A box of picture frames etc £10.00 - £20.00		£20.00
435	A Singer sewing machine £10.00 - £20.00	473	A quantity of rose decorated tea ware £10.00 -
436	A set of oak book shelves £10.00 - £15.00		£15.00
437	A piano stool £10.00 - £15.00	474	A mahogany wall unit £20.00 - £30.00
438	A coffee table £8.00 - £10.00	475	A pair of framed and glazed prints £10.00 - £20.00
439	A quantity of pictures £10.00 - £15.00	476	A mixed lot of whisky, cream liquer etc £10.00 -
440	A dining table and 6 chairs £20.00 - £30.00	477	£20.00
441	A quantity of china tea ware £10.00 - £20.00	477	A pair of mahogany bedsides £10.00 - £20.00
442	16 Atlas Editions 'Glory of Steam' railway pocket watches, 2 pairs of cuff links, 2 other pocket	478	A pine desk £20.00 - £30.00
	watches, pair fire engine cuff links and presentation display unit £10.00 - £20.00	479	An oil on canvas of an Alsation dog signed Peter Hare £10.00 - £20.00
443	An 18 piece china tea set £10.00 - £20.00	480	A large mixed lot of silver plate £20.00 - £30.00
444	Volumes 1 -4 of Thomas Carlisle Oliver Cromwell	481	A mahogany dressing table and stool £20.00 - £30.00
	letters and speeches 1897 together with Oliver Cromwell by Jan Buchan £10.00 - £20.00	482	2 collages being 'The Mikado' and 'Aviators of Hendon 1910-1914 £10.00 - £20.00
445	A framed and glazed leopard study £10.00 - £15.00	483	A mahogany framed mirror £5.00 - £10.00
446	A 2 door 2 drawer cupboard £10.00 - £20.00	484	A cane dressing table, mirror and headboard
447	A 3 legged stool £10.00 - £20.00	707	£20.00 - £30.00
448	A corner cupboard £10.00 - £20.00	485	A nail and beautician kit £10.00 - £20.00
449	4 sledge hammers £10.00 - £20.00	486	A tall mirror £8.00 - £10.00
450	A framed and glazed lion study £10.00 - £20.00	487	An oak bureau book case £20.00 - £30.00
451	A framed and glazed Highland cattle scene	488	A country scene £5.00 - £10.00
450	£10.00 - £20.00	489	A middle eastern rug £10.00 - £20.00
452	An acoustic guitar and a child's acoustic guitar £10.00 - £20.00	490	A musquash fur coat and a fox fur waistcoat £10.00 - £20.00
453	16 pieces of china tea ware £10.00 - £15.00	491	A framed and glazed Australian print £10.00 -
454	A Silver Cross pram £10.00 - £20.00		£20.00
455	A bevel edged mirror £10.00 - £20.00	492	An oil on canvas Cornish scene with tin mine,
456	A framed and glazed rural scene £10.00 - £20.00		signed £10.00 - £20.00
457	A gent's wardrobe £10.00 - £15.00	493	A Cheval mirror £10.00 - £20.00
458	A wardrobe £10.00 - £15.00	494	A framed and glazed Lincoln scene £10.00 -
459	4 wool work pictures £8.00 - £10.00	40-	£20.00
460	A 1930's oak wardrobe £10.00 - £20.00	495	A mahogany bureau £10.00 - £20.00
461	2 bevel edged mirrors £8.00 - £10.00	496	A poker work chair £10.00 - £20.00
462	A set of book shelves £10.00 - £20.00	497	A 9 lamp chandelier £60.00 - £70.00
463	3 shelves of glass ware £10.00 - £20.00	498	A large country scene £10.00 - £20.00
464	2 framed and glazed engravings of Richmond £10.00 - £20.00	499 500	A box of old tins £20.00 - £30.00 A set of scales and weights £10.00 - £20.00
465	2 commemorative plates of Richmond's charter a/f		3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3
	7		